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Monday Tuesday Wednesday Thursday 
Jessica has 23,450 stickers in 
her sticker collection.  Her 
sister has 20,993 stickers in her 
collection.  Who has the 
most stickers? 

Order the numbers from 
LEAST to GREATEST. 

 
547,830; 535,389; 538,584 

A large company made 
$6,439,583 last year.  What is 
the value of the 9 in 
$6,439,583?  

Compare the numbers using 
>, <, or =. 

 
33,405____38,204 

 
1,385,904____1,384,593 

Round this number to the nearest 
100. 

 

7,433,654 

Round this number to the nearest 
1,000. 

 

7,433,654 

Round this number to the nearest 
10,000. 

 

7,433,654 

Round this number to the nearest 
100,000. 

 

7,433,654 

There are 365,493 blue pens 
in the pen warehouse, and 
549,384 black pens. How 
many pens are there in all? 

There are 365,493 blue pens 
in the pen warehouse, and 
549,384 black pens. How 
many more black pens are 
there than blue pens? 

A farmer used 5,438 liters of 
water on her crops this week, 
and 3,487 liters last week.  
How many liters did she use 
altogether? 

On an ant hill there are 
33,438 ants on the inside, 
and 27,493 ants on the 
outside.  How many more 
ants are on the inside than 
the outside? 

Find the Product. 
 

           4 8 7 
        x     2 5 

Find the Product. 
 

         3, 9 6 1 
      x           7 

Find the Product. 
 

           8 4 2 
        x     9 3 

Find the Product. 
 

         7, 2 4 5 
      x           6 
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Find the Quotient. 
 

     7)2,578 
 
 
 
 

Find the Quotient. 
 

     4)5,389 

Find the Quotient. 
 

     6)8,427 

Find the Quotient. 
 

     5)9,374 

An alarm salesman sold 28 
alarm systems.  Each alarm 
system cost $234.  How much 
money did he make? 

A furniture store received an 
order for 3,456 chairs.  They can 
fit 9 chairs in a large shipping 
box.  How many shipping boxes 
will they need to ship all of the 
chairs? 

There are 178 boxes of cookies.  
In each box, there are 32 
cookies.  How many cookies 
are there altogether? 

Melissa is having a party.  She 
has $126 to spend on ice 
cream. Each container of ice 
cream costs $6.  How many 
containers of ice cream will she 
be able to purchase? 

Kate is going to purchase a 
coat for $38, pants for $45, and 
2 pairs of shoes for $34 each.  If 
she has $180 to spend, how 
much will she have left over 
after she buys everything she 
wants? 

Samuel rides his bike 14 blocks 
from his house to get to the bus 
stop.  Then he takes the bus 
another 34 blocks to get to 
work.  At the end of the day, he 
travels back home the same 
way.  How many blocks does 
he travel each day? 

Jorge saved up $134 each 
month for 3 months.  He then 
purchased an XBOX 360 for 
$250.  How much money does 
Jorge now have? 

Ann purchased 6 packs of red 
pens, 10 packs of blue pens, 
and 8 packs of black pens.  If 
there are 15 pens in each pack, 
how many pens did Ann 
purchase altogether? 
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Answer Key - Weekly Homework Sheet 17	
  
Monday	
   Tuesday	
   Wednesday	
   Thursday	
  

Jessica has 23,450 stickers in her 
sticker collection.  Her sister has 
20,993 stickers in her collection.  
Who has the most stickers? Jessica 

Order the numbers from LEAST to 
GREATEST. 

 
547,830; 535,389; 538,584 
535,389; 538,584; 547,830 

A large company made $6,439,583 
last year.  What is the value of the 9 
in $6,439,583? $9,000 

Compare the numbers using >, <, or 
=. 

 

33,405  <  38,204 
 

1,385,904  >  1,384,593 

Round this number to the nearest 
100. 
7,433,654 
7,433,700 

Round this number to the nearest 
1,000. 
7,433,654 
7,434,000 

Round this number to the nearest 
10,000. 
7,433,654 
7,430,000 

Round this number to the nearest 
100,000. 
7,433,654 
7,400,000 

There are 365,493 blue pens in the 
pen warehouse, and 549,384 black 
pens. How many pens are there in 
all? 

914,877 

There are 365,493 blue pens in the 
pen warehouse, and 549,384 black 
pens. How many more black pens 
are there than blue pens? 
183,891 

A farmer used 5,438 liters of water 
on her crops this week, and 3,487 
liters last week.  How many liters did 
she use altogether? 
8,925 

On an ant hill there are 33,438 ants 
on the inside, and 27,493 ants on the 
outside.  How many more ants are on 
the inside than the outside? 5,945 

Find the Product. 
           4 8 7 
        x     2 5 

          1 2, 1 7 5 

Find the Product. 
         3, 9 6 1 
      x           7 

               2 7, 7 2 7 

Find the Product. 
           8 4 2 
        x     9 3 

           7 8, 3 0 6 

Find the Product. 
         7, 2 4 5 
      x           6 

               4 3, 4 7 0 
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Find the Quotient. 
           368 r2 
    7)2,578 

 

Find the Quotient. 
            1,347 r1 

4)5,389 
 

Find the Quotient. 
            1,404 r3 

6)8,427 
 

Find the Quotient. 
           1,874 r4 

5)9,374 
 

An alarm salesman sold 28 alarm 
systems.  Each alarm system cost 
$234.  How much money did he 
make? 
 

$6,552 

A furniture store received an order for 
3,456 chairs.  They can fit 9 chairs in 
a large shipping box.  How many 
shipping boxes will they need to ship 
all of the chairs? 384 

There are 178 boxes of cookies.  In 
each box, there are 32 cookies.  How 
many cookies are there altogether? 
5,696 

Melissa is having a party.  She has 
$126 to spend on ice cream. Each 
container of ice cream costs $6.  
How many containers of ice cream 
will she be able to purchase? 21 

Kate is going to purchase a coat for 
$38, pants for $45, and 2 pairs of 
shoes for $34 each.  If she has $180 
to spend, how much will she have left 
over after she buys everything she 
wants? $29 

Samuel rides his bike 14 blocks from 
his house to get to the bus stop.  
Then he takes the bus another 34 
blocks to get to work.  At the end of 
the day, he travels back home the 
same way.  How many blocks does 
he travel each day? 96 

Jorge saved up $134 each month for 
3 months.  He then purchased an 
XBOX 360 for $250.  How much 
money does Jorge now have? $152 

Ann purchased 6 packs of red pens, 
10 packs of blue pens, and 8 packs 
of black pens.  If there are 15 pens in 
each pack, how many pens did Ann 
purchase altogether? 360 


